BHG.,_x jwsnzo—sssnvk

TN =

55

JdLAN—DoO0R0-5FTFTI\V R,
HE

B3LAH) “_1q GRN m%ﬁ'ﬁb“‘lﬁlto

IAMR L AL DR AZ T LA N—RF I KOBE M BB A ) ELE T,

Bo/0Z20-5H/FTERE. BSMEEERR.

AFANEBIZ T 20 =5 X7 ) R B R BT . SR TS el
EEFBILET,

H3YINOMTERIE.
ZTANEAEF =N =Ty T OV SRR XD 3V SO TR ER T
AVMIEEICIZOhE T,

WYY—Ib— L aEE. N

25 210,27 2100013 S Al HE T,

BRRTHE
R BHG-01AS
AgE  BVY-EM ATVaY BHG-01ASICIEIE AR ( v F

27yay oo BHG- 01]AS - ET3S2 - GH - rosrftzmmasn —f

BICLET,
xEx
wBe BE . #H e . #H #BE EA #BE E4in
01AS ET3 ' #EEASE [E24L % FiEAE NO ' /—wIA—F> | GC2 ¥y —Iv— Lt
03AS ET3L | EASE [E25 X! HEA2G NC ! /—<iy0-X |PF | #—MIBZE
04AS ET2 | AT |E25L %, AN GH | fimI Lt/ s— ]
05AS ET2L ' |EAE [S1 1 o1 GT ' W#ILh/N— |
06AS E24 ¥ HESE [S2 ' EUH2MA GC1 ¥ w)— I — Lt '
HOBASDE > Y OHAEDFEI #OBASIERC A7vas o0z CEDD
it &%
B BHG-01AS BHG-03AS BHG-04AS BHG-05AS BHG-06AS
= 7 SR CED | 4R CIED | 4R CGED | 4R CGED | 4R GEED
EREhR I7—0.1~0.7MPa (NO.NC{t# 0.3~0.7MPa)
ke IS mE7- 32— h17E (ISOVG32)
BAERE (C) 5~60
EEXbO—7 (mm) 5 9 11 15 20
LR (mm) $12 $16 $20 $25 $#32
Oy (mm) $6 48 $10 $12 $16
REEHE [EE]  (cm®/E) 0.32 1.58 2.89 6.32 14.07
1R)BEUIEE (mm) +0.01
AHER (9 118 [ 165 [ 283 [ 455 | 1170




BHG-01AS/03AS/04AS/05AS/06AS

AEHEER. IN\—= < I\yFVURB

BSE (EHNOFLT ENCH 1D
*PP0 20 ®O®
7 R A T e
[ O
Y
IS H] o
\
"@@CJ@(E)\ DIO) &) () CeéJ
B\N—-YUZb
No. z % # & | No. 2 % # & | No. 2 % =
1 v 73 10 | 7—LA KRR 19 | NCEXb> AT
2 | EXb X7 oLZ | 11 | yOX0—-F A 20 | NCXT)>Y 2T L AR
3 | JULEHIN= 18R 12 | y020-5B 21 | @A
4 | w28—v3v w3 | 13 | BRI 22 | UF—F+—A
5 | XTULTHARA wmER | 14 | Ouky - 23 | UF—+—B
6 | XT7ULJHIRB "R 15 | S o= 24 | yyoar
7 | ZEE "R 16 | IEHER 25 | dLh/N— =N
8 | TEEhEh A B2 | 17 | NOXTULY AT LZiR| 26 | €8 73
9 | fEBEH B 4R 18 | NCHF« T3
B\YF2URB
No. BHG-01AS BHG-03AS BHG-04AS BHG-05AS BHG-06AS
13 PSD-12 PSD-16 PSD-20 PSD-25 PSD-32
14 MYA-6 MYA-8 MYA-10 MYA-12 MYA-16
15 $10X g1 $14X 41 $18X 41 $22.33X¢1.02 S-29
ap=__
THEET—
WK HEBHG-01AS EBHG-03AS
HASE 18] (MPa) B2k 100
e _ 60 O.7MPaBl S eaool _{.OL‘I-MPaEﬁ
/\/Fﬂmo)ﬁéﬂl_ﬁh‘%ﬁﬁﬁ " -.-_}____ 0.7MPaBf @ 80 —_0.7MPaj
160, BT 1A P 5 B % - Bl e Fa ot 9P
A s=laal ] A *
%Lij‘o N 2 \%_;ymp N 40 P_iiﬂff:a_sflh___o.s_M_Pa
~ 90| ms==ccaaaoc. ~ ﬁ*
B (<2) —————-—- T 0patm 2 oarar
o (=) ——m— 0 2 4 6 8 10 0 2 4 6 8 10
BA7AE (=) ﬂ{}‘% MOEE (cm) MOKE (cm)
HEBHG-04AS HEBHG-05AS HEBHG-06AS
300 s00| - _0.7MPaFA
4m240 0 4m 400 :0‘7MPaEﬂ
§130 O7MPaB _0.5MPaF 4;#]300 """ IS SN EE
N o RO ool GNRRSREE N oo OB Eeen
0.3NPar 60 0.3MPaPA 100 \o\.;n;;asﬂ
0 2 4 6 8 10 0 4 8 12 16 20 0 3 6 9 12 15
MOEE (cm) MOEE (cm) MOEE (cm)

56



BHG.. . 1asnzxo—sssnok

SNcE
BBHG-01AS (@&iEs5 15N~30N)

BHG-01AS #Z# - NO-NC : BHG-01AS-E[IS[]
5 () PIRENC (/= 70-Z ) HHEHE T, »
_69.5(19.5) RN X
15| _ 8019 8 3 :
| - [ = — =
T r || .= . —
P —ody : e o
Sl == it R - =
7_*\ % \ : 0.7
M3x 0.5/ M3 0. § \2X 2-M3x 0.5
BT -F B -h :
H_5_§:_5[§_3__5}_ 16 e teeeececesecssnentonenens
i
HEBHG-03AS (&&:®#%5 30N~50N)
BHG-03AS #Zi-NO-NC BHG-03AS-E[1S[]
¥ (O )ARINC (/==L - 70— ) HHETE T T,
80(80)
L8l . 12(2) l_m, L4

® | |l .=
:E _E_T.,Hﬂ ?:

\

0000000000000 0000000000000000

I\ \
M5x 0. 8/ \M5x 0.8 \2X 2-M4x 0.7
B BAF -k
§1(11) 19 _ cecssecsccsssscsccsssscces

L 30(40) 31

25 (35)_ 10.5 | 34

| | :

: o —— A




BHG-01AS/03AS/04AS/05AS/06AS

CADF—5HY, HHLiA%I D

BBHG-04AS (&&ieis5 40N~80N)
BHG-04AS iZ# - NO - NC

# ( )ARINC (/==L 7a—X ) HHETET T,

BHG-04AS-E[S[]

89 (99)
.5 r"—| 14.5(24.5) [ 4 :
| :
P :
= E—tl——— = .
Calll \ .
M5 0. 8/ \M5% 0. 8 \‘g_x 2-M4X 0.7 +
B -t BT -h :
o T0(80) 18
30 [ aawe) 36 | |
18| 2-Msx 0.6 e | 20(38) 11 U I
r | 'mﬁﬂ _"I | 1
) ¥ o e s 2
P S
A . S :! SN— :
hd —
e sy & ==
P 21" FIS \2X 2-M5% 0.8 8
TR

BBHG-0O5AS (=@:eis5 8ON~150N)
BHG-O5AS #E# - NO - NC

% ( )ARIENC (/==L - 70—X ) HH#ETET T,
- 106(116)
9.1 18. 5§ 10 5

P 1% | e

(28.5)

BHG-05AS-E[1S[]

..g

_421_|
T
1 —t
L| A = ¥
>
o i

e00cc0c0c0000000000000000 0

35
L_zz__ 2-N6x 1.0 10

/R R

§ 3 A s ¥
0ef— 1 !
Tan | T 2 2
{:ﬁ?ii = L § i -

\ 32

N 26" 1.5 /2% 2-M6X 1.0 10
R A

58



BHG.. .« 1asnzxo—sssnok

~
-

T\

BMBHG-06AS (s&iris/ 100N~250N)

BHG-O6AS #=#+-NO-NC BHG-06AS-E[IS[ ]
#( )ARIENO(/—=2Ib - F=T2) ENC (/==L - 70—X ) HHETET T,
= 150 (165) =

12_24 18_| §

=%y
=
N !

©0000000000000000000000000000

N 1 1Y) I I
e T T
f 4-MEX 1.0 12 | 43(58) | _15.2 | r_.m
E{tR |
{ —T] | = —
o I &f— ol ] : =1 |
i _:_ = - € = ~|
3 =z |
el o} | j
o i ; L /b“ ] EE == |
@34 ) /21X 2-N8% 1.25 R14 ==



BHG-01AS/03AS/04AS/05AS/06AS

CADF—#5#4), HHUAHKI

60



	55.pdf
	56
	57
	58
	59
	60

